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GROUP - A (75 3[®) - 75 U

frafeliaa vl @ o1efyel w9 § =gaftad -

7.
(i) W (i) e
(iii) Sftre= (iv) F=T
(v) Sffede o (vi) formifea
(A) i, ii, iii, iv, v, vi
(B) iii, i, i, vi, iv, v
(C) Vi, ii, v, i, iv, iii
(D) v, ii, vi, iii, iv, i
oifed freft fiig ¥ o1 IR #ar §, 98 5 &R
= gear € o fw X oar 1 fR 9% 3 an
I gSdT § 97 H® e Srar 21 R 98 45° 8.
afarorrerd FEdaT € R ofq # 135° arHTEd gHAT
21 3T ITHT g =f0T foemw 5 AR ¥ A1, 39
et 7 yrw # few faem & eI e uw
fopar ot ?
(A) 3T (B) =faroT
(C) =& (D) 9=
u fAfesa &= # 'PROFESSION' @l
'EFORPNOISS' &t &g fo@r mr 2, 35t #rs 2.
¥ 'DICTIONARY' & 7w aie foar smom ?
(A) YRANOITCID (B) ITCIDYRANO
(C) LTEIDYRNAD (C) ITCDIYARNO
g ATCH F SSHI A SSH Fl =40 2| T8
Tg STEHT W T e TR Tafag € 2
(A) =T=T (B) g2
(C) foar (D) e 10
T o oTrpfa feu U vTeel & STUE HeW T
yfafferes et ®
TIAE, BIare Eormsar R fhee faoifsar?
®) OOO (®) @ -
O
1@ v

SafeT 5t Ut H ufe a=a U dfdd o O 2
T A mREr % Av s Ty e &
aifedt R T 48t @ A= & arfedt 81, Wy
Her & ardft e =T H #iT dar 22

(A) FT (B) ==t

(C)ﬂTﬁTIT (D)‘ZI"Iﬁ

A part of the quoted statement is highlighted
in bold. From the options below, select an
option that corrects the statement if any
correction is required.

“By studying, Covid-19 has engaged many
scientists and institutions in the last 2
years.”

(A) Now that the study
(B) The study of

(C) Important study
(D) no corrections

In the following statement some parts may
have errors. Select the option with the
error/errors or in case of no errors select the
“No Error” option.

“My eldest uncle (A) /is six and a half (B)/
feet high. (C)”

(A)
(©)

(B)
(D) No Error

G=JB4?302LI6F@C4MD8K’T5
<HONEAS$1Z7

gfe fEu U STIFT FT TEST STHT 91T 35S H
fo@T & 99=Tq &€ S O U ©, S a9 B
T TIed US & 9% AR T 3aT M9 9T SATAT
g2

(A) 3 B) ?

€ 4 (D) O

3T AT facasl O &7 <fsdr € 3R facast =fiar
fSTar a7 drgar §, o =fiar agar € -

(A) F@r & Sfar a1 (B) faeet ¥ asF

(C) =T I o (D) T T *H

T HIT & A ar freed 1 ue I few w2
Y T A9 deai H T2 =8 W off <Ml
IGFAl H TSATS, ToT THH HL HE| T T
¢ fF feu frsemt § O F9—a1, I &2 @,
feu T AT 4 eear 21

FAT : TWHEE BH H HH FH GG Heddr T8t

el
=y
I. &= Ueddt M G ®H | FH & a9
T E

II. UTgae = At T8 ard

(A) oo fed 1 Ao @

(B) #ae fassd 11 faroar ©

(C) = ot frspd 1 fpar © 3R 7 & fe=ed ||
(D) fr=hdf 1 7R 11 2FT Ao €
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GROUP - A : (75 Marks) — 75 Questions

Arrange the following words in a meaningful
order.

(i) Major (ii) Colonel

iii) Lieutenant (iv) Captain

(

(v) Lieutenant Colonel (vi) Brigadier

(A) i, ii, iii, iv, v, vi

(B) iii, ii, i, vi, iv, v

(C) i, ii, v, i, iv, iii

(D) v, ii, vi, iii, iv, i

Mohit starts walking from a point. He takes
five right turns, and goes some distance.
Then he takes 3 left turns, and goes some
distance. Then he turns 45° in the clockwise
direction, and finally turns 135° in the
anticlockwise direction. Now, he is facing
towards the South direction. Then, towards
which direction did the man start walking
initially ?
(A) North
(C) East

(B) South
(D) West

In a certain code 'PROFESSION' is written as
'EFORPNOISS'. In the same code
'DICTIONARY' will be written as.

(A) YRANOITCID (B) ITCIDYRANO
(C) LTEIDYRNAD (C) ITCDIYARNO

The old man’s son is my son’s uncle. How is
that old man related to me ?

(A) Uncle (B) Father-in-law
(C) Father (D) Grandfather

Which figure represents the relationship
between the given words of athletes, football
players and cricketers ?

gl o (&Y
(C) G% (D)

In a birthday party five children are sitting
in a row. 'Pummy' is on the left side of
'Mariya' but is on the right of 'Sandra'.
'Ruchi' is on the right side of 'Nancy', but is
on the left of 'Sandra’. Who is sitting in the
middle ?

(A) Sandra
(C) Mariya

(B) Ruchi
(D) Pummy

7.

10.

11.

A part of the quoted statement is highlighted
in bold. From the options below, select an
option that corrects the statement if any
correction is required.

“By studying, Covid-19 has engaged many
scientists and institutions in the last 2
years.”

(A) Now that the study

(B) The study of

(C) Important study

(D) no corrections

In the following statement some parts may
have errors. Select the option with the
error/errors or in case of no errors select the
“No Error” option.

“My eldest uncle (A) /is six and a half (B)/
feet high. (C)”

(A) (B)

(©) (D) No Error

G=JB4?302LI6F@C4MDS8K Ts
<HONEAS$12Z7

If the first half of the above sequence is
reversed, then which element is the sixth to
the left of the seventeenth element from the
left end ?
(A) 3

C) 4

(B) ?
(D) O

If Dog runs slower than Cat and Cat runs as
fast as Panther, then Panther runs :

(A) As fast as dog (B) Faster than cat
(C) Faster than dog (D) Slower than dog

In the following questions one statement is

given followed by two conclusions I and II.

You have to consider the two statements to

be true even if they seem to be at variance

from commonly known facts. You have to

decide which of the given conclusions, if any,

follow from the given statements.

Statement : Government employees are not

hard-working.

Conclusions:

I. Some  hard-working
Government employees.

II. Private firm employees are not hard-
working

(A) Only I follows

(B) Only II follows

(C) Nelther I nor II follows

(D) Both I and II follow

persons are

Space for ROUGH work
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12.

13.

14.

15.

16.

17.

STIHT T &
U3 ATHfaaAr ¢
?

I SATHfAT ¢

X0
@A) | WV (B)
© | AA D) |

b gife)
Out of the following options, choose the one
which best expresses the meaning of the
given word : “prevalent”
(A) rife (B) uncommon
(C) rare (D) subservient
Out of the following options, choose the one
which best opposes the meaning of the given
word: “lapse”
(A) cease (B) begin
(C) descend (D) recede
gfe e ST war 2, |1 8ThA # ST Ue 47

2

XZY, VCU, TFQ, ?

(A) IPQ (B) MOP

(C) RIM (D) NUO

TS = AW H BT S A A f&ar| v
Ffaarft F e o= ufawfiar & @y 3w T
™ @ | Tt 7§ fhad ™ wS T ?

(A) 75 (B) 48

(C) 45 (D) 42

A part of the quoted statement is highlighted
in bold. From the options below, select an
option that corrects the statement if any
correction is required.

“When you take the oath as the leader of our

country, what steps would you have taken
to end unemployment?”

(A) you ought to have taken
(B) had you taken

(C) will you take

(D) No corrections

18.

19.

20.

21.

22.

23.

From the following options, select the most
suitable word to substitute the phrase or
sentence:

“A person’s ability to do something despite
difficulty or delay in achieving success.”

(B) Pestilence
(D) Delirium

(A) Perseverance
(C) Pervasive

From the following options, select the most
suitable word to substitute the phrase or
sentence:

“Courage and patience shown by somebody
who is suffering great pain or facing great
difficulties”
(A) lethargy

(C) apathy

(B) irresolution
(D) fortitude

TP faemery # dsoal iR odsfehal & d=r @
U 3 : 2 2| 30% TASHI AR 15% (Bl DI
BIEAGRT T8l el € | BTagiT U arel faenfiar &t
yforerdar fha 87
(A) 72%
(C) 78%

(B) 76%
(D) 60%

TS ATgldel fashdl Agfhal & sifdbd Jed iR 25%
PGS ol & 3R R A1 IH 20% @1 a9 Bl
g1 I I TP Aigfdba @I s w® 3600 @
ST BT &1, A1 Aisfdhd @1 Sifhd Jea g I |
(A) 28800 (B) 28900
(C) 29000 (D) 28000

Pl B H Sl F WR U BT goi 15 ey g |
Tﬂawzﬁr&] AT ST A 9RT BIdT & df S90
qoF 6 fHa™ BT 8, WTell UM &I dol &Il
BTT?

(A) 2 frem
(C) 3 freum

(B) 2.5 foharum
(D) 3.5 fharm

Choose the one which best expresses the

given sentence in passive/active voice.

I play Billiards during my free time.

(A) Billiards are played by me during my free
time.

(B) Billiards were played by me during my
free time.

(C) Billiards are being played by me during
my free time.

(D) Billiards is played by me during my free
time.

Space for ROUGH work
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12.

13.

14.

15.

16.

17.

Complete the pattern :

Question Figures :

>

Answer Figures :

XX O
@) | \V (B) @
© | AA o) |,
%o

Out of the following options, choose the one
which best expresses the meaning of the
given word : “prevalent”

(A) rife
(C) rare

(B) uncommon
(D) subservient
Out of the following options, choose the one

which best opposes the meaning of the given
word: “lapse”

(A) cease
(C) descend

(B) begin
(D) recede

If the pattern continues, what is the next
term in the sequence :

XZY, VCU, TFQ, ?

(A) IPQ (B) MOP
(C) RIM (D) NUO
Six people participated in a checker

tournament. Each participant played exactly
three games with each of the other
participants. How many games were played
in all ?
(A) 75
(C) 45

(B) 48
(D) 42

A part of the quoted statement is highlighted
in bold. From the options below, select an
option that corrects the statement if any
correction is required.

“When you take the oath as the leader of our
country, what steps would you have taken
to end unemployment?”

(A) you ought to have taken
(B) had you taken

(C) will you take

(D) No corrections

18.

19.

20.

21.

22.

23.

From the following options, select the most
suitable word to substitute the phrase or
sentence:

“A person’s ability to do something despite
difficulty or delay in achieving success.”

(B) Pestilence
(D) Delirium

(A) Perseverance

(C) Pervasive

From the following options, select the most
suitable word to substitute the phrase or
sentence:

“Courage and patience shown by somebody
who is suffering great pain or facing great
difficulties”
(A) lethargy

(C) apathy

(B) irresolution
(D) fortitude

The ratio of the number of boys and girls in
a school is 3 : 2. 30% of the boys and 15% of
the girls are not scholarship holders. The
percentage of students who are scholarship
holders is ?
(A) 72%

(C) 78%

(B) 76%
(D) 60%

A cycle merchant allows 25% discount on the
marked price of the cycles and still makes a
profit of 20%. If he gains ¥ 3600 over the sale
of one cycle, then find the marked price of
the cycle.

(A) 28800
(C) 29000

(B) 28900
(D) 28000

The weight of a container completely filled
with water is 15 kg. The container weighs 6

kg when its (%) part is filled with water.

Then what is the weight of the empty
container ?

(A) 2 kg
(C) 3 kg

(B) 2.5 kg
(D) 3.5 kg

Choose the one which best expresses the

given sentence in passive/active voice.

I play Billiards during my free time.

(A) Billiards are played by me during my free
time.

(B) Billiards were played by me during my
free time.

(C) Billiards are being played by me during
my free time.

(D) Billiards is played by me during my free
time.

Space for ROUGH work
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24.

25.

26.

27.

28.

e & faweat ® O gafya veg @ i)
? . ReETE ;o HETST : f¥rerm

(A) TSI (B) 3Tty wewT

(C) ¥ (D) sTHIET

e T fweut & O wafyd gqe & gAwl
3HS: 7R11 ::11X13:

(A) 21R23 (B) 15F17

(C) 17J19 (D) 19P23

e T faweut § T gafyq stwfa @ gAw)
EEERCIEan R

Ol |O] [O] Ok [=*]| |=*
o[xlol | : [elelofo]:: [F=I=] : P
] O] 0] [|*] |=*
S et
* * | % * *
(A)***x (B)****
* * X | * *
* * * * | %
C) [ «]+]x]= D) [«]*] |«
* | * < | %

Choose the alternative which best expresses

the given sentence in Indirect/Direct

narration.

The teacher said to the student, “Why

were you absent yesterday ?”

(A) The teacher asked the student why had
been he absent the previous day.

(B) The teacher asked the student why had
he been absent the previous day.

(C) The teacher informed the student that
why he had been absent the next day.

(D) The teacher asked the student why he
had been absent the previous day.

Choose the alternative which best expresses

the given sentence in Indirect/Direct

narration.

He said to the interviewer, “Could you

please repeat the question ?”

(A) He requested the interviewer if he could
please repeat the question.

(B) He requested the interviewer to please
repeat the question.

(C) He requested the interviewer to repeat
the question.

(D) He requested the interviewer if he could
repeat the question.

29.

30.

31.

32.

33.

34.

35.

36.

Jgo—feam Igem—gaEn fefalRed 3 9 faw
ISR ERRATT BT AHel MR meei—aray 27?
(A) R

(B) 9°R¥ f2q fawafdener

(C) sifar Sfsar fsar

(D) YRR ARgH fagme favmr

foa o ¥ verfeT @ Al (qa wer %)

ITT fhar T dm EEe Ud HETelRg UXleTd &l
PRI Pl IRBRT AT db JIAT X8 AT ?

(A) 1975 (B) 1977
(C) 1976 (D) 1981

Td 3T D T3l & AF—(4gall Pl Yo Iugad
HH | SSHR Udh AHIgYS 99T Il & | It
AHAGHS DI &=hel 4 i TblS §, d AT P
8B FIT &7

(A) 4 o T (B) 8 o gapTe

(C) 42 it gard (D) 243 i s@TE

UH & I H B D, A TN C S Th A1 B
B1 gl | RO ¥R I € 3R C Bl A T
B & Ud AT B A B ol H IO GHY
ST 7 | Af A AT gh—a1T I B Bl 10
ot § 1 IR A T | Bt A BT FT W B H
foeeT g TRTT?

(A) 20 f&= (B) 22 fad

(C) 24 faA (D) 28 f&=

fafecia wma & fog SIET &1 START SR B
frforRaa # & f59 9@ | S Siran 2 2

(A) A fagm= (B) BIHRNGY

(C) iRy (D) SHCTITH!

In the following options only one word is
correctly spelt, find the correctly spelt word

(A) taxidermy (B) taxodermy

(C) taxydermi (D) taxidermy

Out of the following options, choose the one
which best expresses the meaning of the
given word : “ebullient”

(B) lethargic
(D) high-spirited

(A) spiritless
(C) lenient
Out of the following options, choose the one

which best opposes the meaning of the given
word: “slacken”

(A) relent
(C) soften

(B) tighten
(D) slow

Space for ROUGH work
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24.

25.

26.

27.

28.

Select the related word from the given
alternatives.

? : Hyderabad : : Meghalaya : Shillong

(A) Telangana (B) Andhra Pradesh
(C) Kerala (D) Amaravati

Select the related group from the given
alternatives.
3H5:7R11::11X13:
(A) 21R23

(C) 17J19

(B) 15F17
(D) 19P23

Select the related figure from the given
alternatives.

Question figures :

o[ Io] [O Iolx] [*[ I*
olxIo]|: [elolofo]:: [ F=I=] : P
o[ [o ol o] I+ =
Answer figures :
* * * * *
(A) * | %] %] % (B) | x| x| *
* * X | % *
* * * * *
C) | s|x]x]= D) [ «] =] «] «
* | s * x| %

Choose the alternative which best expresses

the given sentence in Indirect/Direct

narration.

The teacher said to the student, “Why

were you absent yesterday ?”

(A) The teacher asked the student why had
been he absent the previous day.

(B) The teacher asked the student why had
he been absent the previous day.

(C) The teacher informed the student that
why he had been absent the next day.

(D) The teacher asked the student why he
had been absent the previous day.

Choose the alternative which best expresses

the given sentence in Indirect/Direct

narration.

He said to the interviewer, “Could you

please repeat the question ?”

(A) He requested the interviewer if he could
please repeat the question.

(B) He requested the interviewer to please
repeat the question.

29.

30.

31.

32.

33.

34.

35.

36.

'‘Bahujana-hitaya bahujana-sukhaya' is the
Sanskrit-based motto of which of these
national institution ?

(A) Doordarshan

(B) Banaras Hindu University

(C) All India Radio

(D) Indian Metrological Department

In which year was accounting separated
from auditing and Comptroller and Auditor
General's task only remained confined to
auditing the Government Accounts ?

(A) 1975 (B) 1977
(C) 1976 (D) 1981
A rhombus is formed by joining midpoints of
the sides of a rectangle in the suitable order.

If the area of the rhombus is 4 square units,
then the area of the rectangle is ...

(B) 8 sq. units
(D) 243 sq units

(A) 4 sqg. units
(@] 42 sq units

To do a certain work, B would take time
thrice as long as A and C together and C
twice as long as A and B together. If three
men together complete the work in 10 days.
The time taken by A to complete the work
separately is

(A) 20 days
(C) 24 days

(B) 22 days

(D) 28 days

Use of chemicals for therapeutic effect is
called :

(A) chemistry (B) chemotherapy

(C) physiotherapy (D) chromatography

In the following options only one word is
correctly spelt, find the correctly spelt word
(A) taxidermy (B) taxodermy

(C) taxydermi (D) taxidermy

Out of the following options, choose the one
which best expresses the meaning of the
given word : “ebullient”

(B) lethargic

(D) high-spirited

(A) spiritless
(C) lenient
Out of the following options, choose the one

which best opposes the meaning of the given
word: “slacken”

(C) He requested the interviewer to repeat (A) relent (B) tighten
the question. (C) soften (D) slow
(D) He requested the interviewer if he could
repeat the question.
Space for ROUGH work P.T.O.
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37.

38.

39.

40.

41.

42,

43.

44,

Ife vs el U ofel ¥ AR fAamr Sy, ar
$APBT T IGABY DT B SITIT?

(A) < (B) e
(C) ~reTT—aprefm (D) e

T 9 UUS WY AT SHETHG (ot g

frfaRad # | &9 2018 # SN AR AR
g difear TRIRAT ST arell Aot WifSar et ©
(A) TE9 (B) few <fa

(C) =, (D) e

o

foa WAy arefemesl 1 2019 H "af¥ds TG B
P I @ oy S8 WS gfedr & fog”
e RESR A TG fHar a7 or?

(A) JHeHT ARG

(B) if¥oiia g=iolt

(C) 3M &+

(D) DT Fmeft

TS H 150+ BT 8 UTRIAT Wl dTel THHTH ToetdTo]
P 87

(A) fea ot

(B) Sfae df+Rk

(C) dfr digarax

(D) ST SART

P wRA ¥ & G BT BT & H, JARD!
ST ©, (9T g, e fbar 87

(A) eRfde P (B) 3T Hegram

(C) faspm ufeq (D) fadre @rFet

aoTd xt -17x3 +17x% -17x+17 & 99 x =
16 & forg gnm ?

(A) O (B) 2

€)1 (D) 3

fou gu fawedi # ¥ 39 vsg &7 JFAQ ST fRu
T Ieg H INHS 3R T TEl F97ar ST gehdr|
fear T 3=

CHRYSANTHEMUM
(A) REAM (B) TURN
(C) MONTH (D) MERCY

45, fIu 7T THS H FW UG H A T R

7 [3[15]
1159 |48
13217 |68

(A) 64 (B) 49

(C) 58 (D) 56

46. FTT HFWN F TF FAT=d JomeT & TR W
T fopar T ¥ SH STYR TR STIAa FHieoT

T Fel I ST S|

afc 9*4=109,5*8 =121, 13 *6 =2354r

11*13=7?
(A) 330 (B) 430
(C) 578 (D) 645
3=\ J3 142
7. e = -
* *“ B2 B2
X2 +y® &AM @& BRI
(A) 950 (B) 970
(C) 930 (D) 530

48. TP g Pl ST B dHTg 8 W T AR IqD bw
AT AT B Fgad g 3 AL 2| AT SH g9 B

froar fea 87
(A) 5 L. (B) 6 .
(C) 8 L. (D) 10 ¥,

49, YRR I IifdpaoreR G & S
GReToT & forv wURET Ue BRal 2 |

A) 919
B) URUR® dIof
C) anfeardr T
(D) st

(
(
(

50. 9RAY GfagHE & fba w7 § g onRid e or

g 87
(A) MTT-VIII
(C) WIT-IX

(B) 9T-VII
(D) HTT-IXB
1 1 1
R v ~Svy AT A
(A) p=9
B)p<18, WXIp>9
C)p=18
(D) p>18

51.

Space for ROUGH work
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37. Ifiodine is added to a period potato, then it 45. Find the missing term(s) in the given
will turn - figure(s).
(A) Red (B) Yellow 7 131151 ?
(C) Blue-Black (D) Blue 11/5| 9 |48
38. 'The Rise and Growth of Economic 13 2|17 | 68
Nationalism in I.ndla was written by (A) 64 (B) 49
(A) Partha Sarthi Gupta () 58 (D) 56
(B) S. Gopal
(C) B.R. Nanda 46. Some equations are solved on the basis of a
o certain system. Find out the correct answer
(D) Bipin Chandra for the unsolved equation on that basis.
39. Which of the following is an India based If9*4=109,5*8 =121, 13 * 6 = 235 then
short video sharing social media service 11*13=7?
released in 2018 ? (A) 330 (B) 430
(A) Vines (B) Tik-Tok (C) 578 (D) 645
(C) Koo (D) Chingari
B-\3 2
40. Which Indian economist was awarded the 47. If x=—=—= and y=—=—~ then the
e b \ ) J3+42 V3 -2
Nobel Prize in 2019 “For their experimental 3 3.
approach to alleviating global poverty” ? value of x” +y~ is
(A) Venkatraman Ramakrishnan (A) 950 (B) 970
(B) Abhijit Banerjee (C) 930 (D) 530
(C) Amartya Sen 48. The length of the chord of a circle is 8 cm
(D) Kailash Satyarthi and perpendicular distance between centre
41. Who is the only batsman who scored 8 and the chord is 3 cm. Then the radius of the
innings of 150+ in ODIs ? circle is equal to
(A) Rohit Sharma () 5 em (B) 6 cm
(B) David Warner (C) 8 cm (D) 10 cm
(C) Sachin Tendulkar 49. The Ramsar Convention is the
(D) Brian Lara intergovernmental treaty that provides the
framework for the conservation of
42. Which Indian-origin person was recently (A) Tiger
appointed as the C.E.O. of the American & L
technology company also known as “Big (B) Traditional Seeds
Blue” ? (C) Tribal Language
(A) Arvind Krishna (B) Arjun Malhotra (D) Wetlands
(€) Vikram Pandit (D) Vinod Khosla 50. Which part of the Indian Constitution
43. The value of the expression contains the provisions on the Union
NS
x*=17x® +17x* -17x+17 at x= 16 is Territories :
(A) Part - VIII (B) Part - VII
(A) O (B) 2
(C) Part - IX (D) Part - IXB
€)1 (D) 3
44. From the gi ds, select th d which 51. If p= L. 1h+ L _ then
. From the given words, select the word whic . =5 - -
cannot be formed using the letters of the 3-V8 4-V15 2-43
given word. A) p=9
CHRYSANTHEMUM (B)p<18butp>9
(A) REAM (B) TURN (C)p=18
(C) MONTH (D) MERCY (D)p>18
Space for ROUGH work P.T.O.
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52.

53.

54.

55.

56.

57.

58.

U&h AEfhe aad 'A' 9 B @@ 14 &L @
a1 v v ff¥ad sid ora & T8 &xar 2 | afe
ST T @rel 1 A uf ger 9 Bl §, o
g8 S W B [ A H 20 e l¥d qH
T B | ATsfhel dTeid @ URMAS AT arel § ?

(A) 7 f&H./er (B) 8 & /=T
(C) 9 Tt /=er (D) 6 &L /&er
30 fd ufdfed 6 °v¢ &R xR 8T 24 fad H

1500 ISt & Ie o) Fahd 2| 18 afad 8
gue gfifes Rl $Rd g 1800 Il BT Srad

fopa=r faet o &) A € ?
(A) 36 fa (B) 38 fad
(C) 32 fas1 (D) 30 f&=1

a1 71¥210,000 & 3Sifdhd o7 R T R 5%
P e W TYEl | AT gAIRT ! FR 10% & df
SHS §RT YA B Tg IR ST B |

(A) 219000 (B) 219600
(C) T219450 (D) 220450
HE: 4 T AT 9 T BT arel /T I U g
Bl TP fIg IR aeR I Wel I © AR IAD! T
A el Yar wmaen Poden Q fawgell R S

el Bl & | A1 PQ ST atel o &l &5l fdhe=T
8T ?

(A) 72 T | (B) 144 3 I

(C) 97 a7 ¥+ (D) 169 o ¥+

1 AT GEAeT & I H 87 T =R I T®
(A) 33, 34 (B) 43, 44

(C) 23, 24 (D) 27, 28

foraT Tug ¥ FE 90T 9T s=st S 12%
aiffer @@ T W & T & TUa @ St 2

(A) 82 aef (B) 6l CL
3 2

©) 6% = (D) 8 =f
3 3

54 fFHT./ S i 9T T TS 9o B, 3T9
250 #ex AT I W H ST W UH AFW Wl
90 THUE H ST Uhed! 81 99 &I TS ©

(A) 44 fet./=ar
(B) 34 foeft. / Har
(C) 25 faet./=ar
(D) 48 f&eft. /=ar

59.

60.

61.

62.

63.

64.

T AR &1 "EAH 9ANddd  (VEXIUEm) iR
TETH AT (TS H.TH) HH: 48 3R 267 2|
Ife ugell W= BT 6 | AT AT SV, A1 WRTHA
24 BIaT 8 | gy W fefaRad # 9 @ grfy ?
(A) 47 (B) 89
(C)132 (D) 64

gfe fefl SRIAER  WHRR SChald (YIS eR

RAAUTSE) B IMMAH BT ATHS 30 AH. & iR
fapof (ramivel) & o=TE 5414 WA B, O ST

T TSI &% T BN ?
(A) 520 HH2 (B) 275 H.#2
(C)651 HH2 (D) 550 H.H2

IRV, V, 3R V, U &9 geiig e, el 3R e
g Jo B A §, el Bear ok S

99 8, o

vV, V. v, V.
A)V,=—2=_2 B) V,=-2=-3
(A) v, >3 (B) v, 2 3

vV, V. v, \V
C)L=-2=V D) L=V,=-2
()2 3~ Vs ()3 255

I U A9 989 H SHBT U IAARD DIV IqD
qTEl DI  140° 99T &, Il I IgYSl bl Yorail
Calcic il

(A)24 (B) 20
(C)15 (D) 18
=1 S@er & "o ™ Ukl $T AT 9 DI -
1 1 1
+ + Fota

4x7 7x10 10x13

19 7
(A 55 B —¢

5 13
© - ®) 575

T F TS I H odfast ufea & udw
BN T Afafad v 3 FwEf =9 & fou
T A Segw qdad] saer § o aE T e
TR H =3 STEfa H faa o 2 2

Fig. 1 Fig. 2 Fig. 3

O O 0 [I1 [T 11
(A) 25 (B) 21

(C) 26 (D) 31

Space for ROUGH work
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52. A cyclist moves non-stop from A to B, a 59. The H.C.F. and L.C.M. of two numbers are
distance of 14 km, at a certain average 48 and 267 respectively. If the first number
speed. If his average speed reduces by 1 km is divided by 6, the quotient is 24. The other
per hour, he takes 20 minutes more to cover number is
the same dlstapce'. The original average (A) 47 (B) 89
speed of the cyclist is ....

(C)132 (D) 64
(A) 7 km/ hr (B) 8 km/ hr
60. Ifthe sum of the dimensions of a rectangular
(C) 9 km/hr (D) 6 kem/ hr parallelopiped is 30 cm and the length of the
53. 30 men can produce 1500 units in 24 days diagonal is 5v/14 cm, then the total surface
working 6 hours a day. In how many days, area of it is
can 18 men produce 1800 units working 8 (A) 520 cm? (B) 275 cm?
hours a day ?
C)651 cm? D) 550 cm?

(A) 36 days (B) 38 days (€)651 cm (D) 550 em

(C) 32 days (D) 30 days 61. If V, V, and V, be the volumes of a right
circular cone, a sphere and a right circular

54. Rita purchased a car with a marked price of Cylinder having the same radius and same
210,000 at a discount of 5%. If the sales height then
tax charged is 10%, then find the amount V. v V. v
she has to pay. AV =—2=-_38 BV =-2=-23

GVAA >3 (B) Vi 2 3
(A) 219000 (B)¥219600
vV, V V, Vv,
(C) 219450 (D) T 220450 ©) ?1:?2:\/3 D) ==V, =73

55. Two circles of radii 4cm and 9cm res.pectlvely 62. In a regular polygon if one of its internal

touch each other externally at a point and a .
. angle is greater than the external angle by
common tangent touches them at the points R .
. 140°, then the number of sides of the
P and Q respectively. Then the area of a olveon is
square with one side PQ is polye
(A) 72 sq. cm (B) 144 sq. cm (A) 24 (B) 20
(€©)15 (D) 18
(C) 97 sq. cm (D) 169 sq. cm
. 63. Find the sum of first five terms of the
56. The dlffe.rence betweer.l the square of two following series :
consecutive numbers is 87. The numbers
4X7+7X10+10X13 Foeret e
(A) 33, 34 (B) 43, 44
(C) 23, 24 (D) 27, 28 (A) 19 (B) e
32 76
57. In how much time, will a sum of money 5 13
become double of itself at 12% per annum (€) — D) —
. . 76 210
simple interest ?
2 1 64. Each arrangement of squares is formed from
(A) 85 years (B) 65 years the preceding arrangement by adding two
additional squares to each end of the
1 1 horizontal row and one square to the vertical
© 63 years (D) 83 years column. How many squares will be in the
sixth figure in the sequence ?

58. A car moving at a speed of 54 km/hr ) . .
overtakes a bus 250 metres ahead going in Fig. 1 Fig. 2 Fig. 3
the same direction in 90 seconds. The speed [ ] TT1 [T
of the bus is u ] H
(A) 44 km/hr (B) 34 km/hr —

(C) 25 km/hr (D) 48 km/hr (A) 25 (B) 21
(C) 26 (D) 31
Space for ROUGH work P.T.O.
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e (65 - 67) : 9 ¥ U IR X@IE &1 g
PIRTT 3R F=feRad gei & SR AR |

A uas 93 5 o 1%
Cfedfra =3 & ura a7

100 -
90 - — - —

70 -
60 -
50 -
10 -
o - L L — L
SATSIT  TMUTT G371 Sideld Te=<l
ferorg —>
65. <l WAl & s # ura ofd bl de dad
T F H 3ol iR G H U i Id &7 JrguTa

TR ?
(A) 31 : 36 (B) 39 : 37
(C) 37 : 36 (D) 36 : 37
66. B gRI TF I3 # UK fdhi BT <R AfHad
foa fawg # 87
(A) 3fash (B) sfirera
(C) f&d (D) wrfore
67. <l | H i1 # b ufererd s ure gg?
(A) 82.5 (B) 92.5
(C)97.5 (D) 83.5

68. 3T T ST T@ar 7, O 3TFH H 3T Ig 4T

2

1,7, 25,61, 121,?

(A) 211 (B) 215
(C) 197 (D) 237

69. fr=ifera & Tag =T 3199 =T P’ H "I
FT 2, SRl 9 TAT PP AT 400 F HH 2

(a) 41 (B) 47
(C) 37 (D) 43

70. fr=fefEa fawen § T fauw =5 g
(A) Baseball (dHaTe) — AIEH I3
(B) Boxing (IfaT) — AleHE 33T HHT
(C) Chess (ITALST) — & THT
(D) Wrestling (&™) - fe=am swmeam

71.

72.

73.

74.

75.

yoq ¥ fau U S wHE & 9 g@anett &
=TIT IS

536, 428, 365
(A) 358 (B) 435
(C) 624 (D) 266

feu Tu erRe H Sl I WA ST wi

(A) 15
(C) 18

(B) between 15 to 18
(D) more than 18
frfefaa st vl &1 st avEeT &
3TN, FHTE HLl
(i) Knuckle (ii) Kohlrabi
iii) Kowtow (iv) Kaiser
v) Knavery
A) (i), (i), (i), (v), (iv)

) (i), (v), (1), (ii), (iii)
C) (i), (i), (@), (v), (iv)
D) (iii), (i), (v), (@), (iv)
e TR % 18 Ui g5 WR 10 TS AUS oAld
IOIR ¥ WSl 2| 79 10 0S¢ UIY W &
3R 9 BbT TSl g At 98 uRaed wR T24

WY HRAT B, I 99 U 3vel b o wR I
1Ry ST 9 10% &7 T 817

(A) T 2.04 (B) T2.25

(C) T2.40 (D) T2.30

RISRAT BT Yeb RET PHoyaell Hell A a1 ST
B & H AWMiferd dahd (GI) ST Siar 81 I8
TREaT FefeRad =T 9 | S SRt € 2

(A) TrTgeT RS

(B) reraeet fsar

(C) Pogaeh Ifem

(D) geif qfeanm

Space for ROUGH work
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Directions (65 - 67)

: Study the bar-diagram

carefully given below and answer the following
questions :

65.

66.

67.

68.

69.

70.

A DMarks obtained in first session

I:lMarks obtained in second session

L‘/V\fl

v

s = 8§ & 4

= g g 3 =

W = g Z T

q Q T

m ]
Subjects—p

What is the ratio between the average marks
obtained in science of both the sessions and
the average obtained in English and
Mathematics in the first session only ?

(A) 31:36 (B) 39 : 37

(C) 37 : 36 (D) 36 : 37

What is the maximum difference between

marks obtained by the students in both the
sessions ?

(A) English
(C) Hindi

(B) History
(D) Mathematics

What percentage of marks were obtained in
Mathematics in both the sessions ?

(A) 82.5 (B) 92.5

(C) 97.5 (D) 83.5

If the pattern continues, what is the next
term in the sequence :
1,7,25,61, 121, ?

(A) 211

(C) 197

(B) 215
(D) 237

What is the largest prime number, P’, such
that 9 times P is less than 400 ?

(A) 41 (B) 47

(C) 37 (D) 43

Find the odd one from the given alternatives.
(A) Baseball — Mike Trout

(B) Boxing — Md. Ali Qamar

(C) Chess — Koneru Humpy

(D) Wrestling — Divya Kakran

71.

72.

73.

74.

75.

In this question, choose the numbers similar
to the group of number given.

536, 428, 365
(A) 358 (B) 435
(C) 624 (D) 266

Find the number of triangles in the given
figure.

(A) 15
(C) 18

(B) between 15 to 18
(D) more than 18

Arrange the following words as per their
order in the dictionary.

(i) Knuckle (i) Kohlrabi
(iii) Kowtow (iv) Kaiser
(v) Knavery

(&) (i), (i), @), (v), (iv)

(B) (iv), (v), (D), (i), (iii)

(©) (i), (), (i), (v), (iv)

(

D) (i), (ii), (v), (i), (iv)

A grocer buys 10 dozens of eggs at ¥ 18 per
dozen from the wholesale market. Out of
these, 10 eggs were found broken and had
to be thrown away. At what price per egg
should he sell them so as to make a profit of
10%, if he spent I 24 on transportation ?

(A) T 2.04 (B) T2.25

(C) T2.40 (D) 2.30

The dolls made out of this string puppet art
form of Rajasthan recently won the
Geographic Indication (GI) tag. By which
name are these dolls known ?

(A) Channapatna Dolls

(B) Kondapalli Dolls

(C) Kathputli Dolls

(D) Khurja Dolls

Space for ROUGH work
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76.

77.

78.

79.

80.

81.

82.

GROUP - B : (50 3[®) — 25 U3

Th RiEE 8% 80 k.om. il 1 g9d! Adg @
e dreis 15 m B afe o« A 49 # #ifda
qrefiaxer 5 mmy/feF €, a1 30 feAi # aftya 8=
qrel UM BT A o 8lar & ? (A ooty
U5 U1 0.7 ©) :-

(A) 18000 m3

(B) 126000 m3

(C) 180000 m3

(D) 12600 m3

Her oA & fou 3T & 9 gt 99d
A T ¥ O U, SioAfeRsT e & fou
sreafas ufedet &

(A) FTT TS

(B) fafewrss & qrzw

(C) Fafess e

(D) &= U=

A =7 ¥ G.I 927 fTsM & SR den 9
fopat faerre &1 sravgesar 2t 2

(A) 15 T+t (B) 1.5 &+t
(C) 1.5%= (D) 15 =
aifertuTfbe ST # TR fhy oI €
(A) 1D (B) 2D

(C) 3D (D) 4D

frfaRad § a9 a1 QW ddbs! | T grr SIar
3

(A) de e (wet root)
(C) ¥

RIS UPTS &1 Chel [Nad A @iy 31rdl
Arers # 5 A 9 fde T8 g 8, 98 HEardn
.

(A) Ryeet, &R

(B) Tex1

(C) e |, =il

(D) S

frafoRed # & frg wHie &1 TANT TSNS
STUET # U gad e & fay far s 8 2
INKGIEREERIS]

(B) ufeTd (Ellipse) ®HIS

(C) IDha HHIS

(D) 3T FHHIS

(B) Reme
(D) TS

83.

84.

85.

86.

87.

88.

89.

g |IeToT foRT Yol &1 gehell Bl BISHR Yl Bl
ATE P AAT AT STl 8 |

(A) T wderor

(B) T deTor

(C) EaTg waderor

(D) qITI HieToT

TP SRR 3ffelgd # ¥bal 1 cm = 100 m
forar Smar 21 I8 9 srgu H #el @ran 27

(A) 1: 100

(B) 1 : 1000

(C) 1 : 10000

(D) 1 : 100000

2 mm & WHH HAICE, A8 A8 BT STAN ...

@ fore &1 foar ST 2 |

(A) TS AT

(B) ffder @

(C) DI @ <rg

(D) 3mar elrg

YT ARl @ folg SUART & ST dTell Admel Bl
I

(A) AT (B) A&

(C) qgaR (D) @i

aRed UhTeC I HMHT ™Y I STANT fRar SITa

2

(A) ety ggerer
(B) aTex gfthT
(C) fRErd

(D) 378 | PIg &l

S @ S srerar and Rerferat # ooy wrat &
fo JmAdR WR yygad AT BT § —

(A) & 7T

(B) et o

(C) fda STefra =7

(D) Fraet STelfra

Space for ROUGH work
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76.

77.

78.

79.

80.

81.

82.

GROUP - B : (50 Marks) — 25 Questions

An irrigation canal is 80 k.m. long. It has an
average surface width of 15 m. If the
evaporation measured in a class A pan is 5
mm/ day, the volume of water evaporated in
a month of 30 days is : (take pan coefficient
as 0.7) :-

(A) 18000 m3
(B) 126000 m3
(C) 180000 m3
(D) 12600 m3

One of the oldest materials used for sewer
lines, which is highly resistant to most acids

(A) brass pipe

(B) vitrified clay pipe

(C) synthetic pipe

(D) lead pipe

How much clearance is required from the
wall while laying G.I. pipe internally ?

(A) 15 cm (B) 1.5 cm

(C) 1.5 inches (D) 15 inches

Orthographic drawings are drawn in

(A) 1D (B) 2D

(C) 3D (D) 4D

Which of the following is not a defect in
timber?

(A) Wet root
(C) Shakes

(B) Rindgall
(D) Knots

The piece of sawn timber whose dimension
do not exceed 5 cm either in breadth or in
thickness is known as —

(A) Baulk
(B) Plunk
(C) Scantling
(D) Batten

Which of the following command is used to
draw a circle in isometric drafting ?

(A) Line command
(B) Ellipse command
(C) Circle command
(

D) Arc command

83.

84.

85.

86.

87.

88.

89.

The survey in which the surface of the earth
is considered flat except for the curvature of
the earth.

(A) Geological survey
(B) Plane survey

(C) Aerial survey
(D) Surface survey

In an engineering drawing it is written scale
1 em =100 m. Which ratio does it correspond
to?

(A) 1: 100

(B) 1 : 1000
(C) 1 : 10000
(D) 1 : 100000

Medium thickness, line-group of 2 mm are
not used for -

(A) out line
(B) dotted lines
(C) cutting plane lines

(D) dimension lines

Pick up the timber from the followings which
is used for railway sleepers :

(A) Sal
(C) Deodar

(B) Mahagany
(D) Teak
Mastic asphalt is normally used for
(A) sound insulation

(B) water proofing

(C) fire proofing

(D) none to these

Shingle is

(A) decomposed laterite

(B) crushed granite

(C) cilicious rock

(D) air weathered rock

The commonly used lime for works under
water or in damp situations is :

(A) Fat lime
(B) Lean lime
(C) Feebly hydraulic lime

(D) eminently hydraulic lime

Space for ROUGH work

P.T.O.
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90.

91.

92.

93.

94.

AT AATAT BT YART IR R T Q1Y I 81T &
ag_

(A) feare; &1 grar ©

(B) oot & dc &l BT

(C) B STl &

(D) gerea & &

3ifaret U # 99 &1 g7 wrd R g § 2

(A) AT B HAT

(B) WaE W UT &I UHHAM ©U ¥ hold § el
BHRAT

(C) AT RS WRA UG HRAT S Ue &M arell
|Ag BT T ol T

(D) YT BT F&T B UfhAr H Aol AT |

TR TARU B ARMT & oy f6d gaR & Wi
&1 g fear smar 8?

(A) TAT—9ZT gTgH HRHe

(B) Urdcis—ursilaqT Hie

(C) T—au e

(D) S=a TR Hiie

T @7 Ry 3R HSROT (storage) @1 HH &1 Ioig

J AFe & W9 8 & Ry &1 A b forw
P I A BT STINT fHar Srar 27

(A) TrSiTeifE e
(B) EFSIHId® HRie
(C) TR T widfe
(D) T4 HHe

(A) THATHA SHR U

(B) &= $cf R Hagad AdA

(C) T U&R &

(D) ¥ B RIS (plasticity) UG &

95.

96.

97.

98.

99.

100.

IS : 800-1962 & AR, Wi ufd S s

gfa e dars & [ARR &1 ond, & w5 | forn

ST &

(A) 0.000008 (B) 0.000010

(C) 0.000012 (D) 0.000014

f=foRed § 9 frg dRoT & wae i § ger

@ SUANT H B anS § ?

(A) Il 3R R.C.C. &F 9N 3R s fears
B |

(B) UeR &I AW &1 faawa fageyor 78l fohan
ST bl B |

(C) HeMl ¥ YR Al W SUdes e B 2 |

(D) ¥ fadey | 2|

T4 9 $I9 Ud aRad«r 9% T8l § ?

INERIEERSIG

(B) 89110 RRaerd

(C) IRATAT iffRana

DEIGKEE

fIefHT amadR R urat faar Siram &—
INESERCE ]

(B) §IRT &1 |

(C) Ugifersv I A

(D) BT A

(TARICH) BT AfTBTH AT MR &
(A) 12 mm (B) 6 mm
(C) 8 mm (D) 10 mm

Space for ROUGH work
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90.

91.

92.

93.

94.

One of the main demerits in using the lime
mortar is that it

(A) is not durable

(B) Does not set quickly

(C) Swells

(D) Is plastic

The main function of base in oil paint is to :
(A) reduce the cost

(B) help in spreading the paint evenly on
the surface

(C) provide an opaque coating which would
hide the surface to be painted

(D) accelerate the process of drying of the
paint

The type of cement used in lining of deep

tube wells is :

(A) Blast furnace slag cement

(B) Portland pozzolona cement

(C) Oil well cement

(D) High alumina cement

To prevent spoiling of cement due to humid
conditions and lost storage, the cement used
is :

(A) Pozzolanic cement

(B) Hydrophobic cement

(C) Air entraining cement

(D) Coloured cement

The function of iron oxide in brick is to -
(A) Impact uniform shape

(B) Prevent shrinkage of raw bricks

(C) Impart colour

(D) Impart plasticity to the brick

96.

97.

98.

99.

100.

According to IS : 800-1962, the coefficient of
expansion of steel per degree centigrade per
unit length, is taken as

(A) 0.000008
(C) 0.000012

(B) 0.000010
(D) 0.000014

Which of the following is the reason for the
decrease in the use of stones as building
material ?

(A) Steel and R.C.C. are less bulky and
more durable

(B) Strength of stones can not be rationally
analyzed.

(C) Stones are not conveniently available in
plains

(D) All option are correct

Which one of the following is not a transition
curve ?

(A) Cubic Spiral

(B) Cubic Parabola

(C) Bermalli's Leminiscale

(D) Sag Curve

Bitumen is generally obtained from
(A) Organic Material

(B) Synthetic Material

(C) Petroleum Product

(D) Coal

.......... head rivet is used for light works.

(A) Ovel (B) Mashroom
(C) Flat (D) Befurcated
For the construction of cement concrete

floor, the maximum permissible size of the
aggregates, is

(A) 12 mm (B) 6 mm
(C) 8 mm (D) 10 mm
Space for ROUGH work P.T.O.
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10.

11.

12.

13.

14.
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Note : English version of the instruction is printed on the front cover of this Booklet.




